
Séquence de Nombres Linéaires (D)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. 604 504 404 304 204 -196Différence commune:2. 91 81 71 61 41 31 21Différence commune:3. 55 45 35 15Différence commune:4. 197 -3 -53 -153Différence commune:5. 501 426 351 126 51Différence commune:6. 427 227 127 -73Différence commune:7. 98 88 48 38 28Différence commune:8. 243 43 -157 -357 -657Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (D) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. 604 504 404 304 204 104 4 -96 -196 -296Différence commune: -1002. 91 81 71 61 51 41 31 21 11 1Différence commune: -103. 55 50 45 40 35 30 25 20 15 10Différence commune: -54. 197 147 97 47 -3 -53 -103 -153 -203 -253Différence commune: -505. 576 501 426 351 276 201 126 51 -24 -99Différence commune: -756. 827 727 627 527 427 327 227 127 27 -73Différence commune: -1007. 98 88 78 68 58 48 38 28 18 8Différence commune: -108. 243 143 43 -57 -157 -257 -357 -457 -557 -657Différence commune: -100Mathslibres.com


